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riddle Kakuro 2006

In Kakuro, place digits from 1 to 9 between black cells such that there are no repeat digits and the
digits add to the given sum. Star cells should contain the same digit within their puzzle.

Original puzzle created by David Millar and posted March 19, 2006.

Fixed, added upon, and reposted January 6, 2010, thanks to Josh! W

Feel free to share this puzzle with friends. Send them over to The Griddle (thegriddle.net) for a
copy of this puzzle and more puzzles like it. The Griddle is also on Twitter: @thegriddle




